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Problem 1. Consider the shown circuit.  For each of the leads shown, A, B, C1, C2, is the lead testable for stuck-at-1 or stuck-at-0 faults.  If the fault is testable, give the vector which tests for the fault.  If not, explain why not, showing the contradiction in what must be true (e.g., testing for C2 stuck-at-0 requires E=0, implies D = 0, implies C = 0, but C2 stuck at 0 requires C=1.  This particular example is utterly false on a number of grounds, but shows the style of argument)
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Problem 2. Consider the shown circuit.  Is it vulnerable to stuck-at-hazards?  If so, what is the fix (hint: draw the Karnaugh map) 
Problem 3. Problem 8.6, Katz and Borriello
Problem 4. Problem 8.7, Katz and Borriello .

Problem 5. Problem 8.14, Katz and Borriello
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